BT TRIA O - HEHHEE X T EIZEJ'ZiSEOZH KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,457 87,150 41,777 45,373
RIRET1T 4 11 5 6
RIRET2T 26 58 28 30
RIRET3T 114 386 188 198
RIRET4T 388 1,008 491 517
B 532 1,463 712 751
REH 2,606 6,317 2,967 3,350
L&A 4,127 9,629 4611 5,018
BE 2,442 5,951 2,886 3,065
B AN 1,220 2,845 1,347 1,498
BERT 1,029 1,661 795 866
BER2T 745 1,466 689 777
BHERST 639 1,319 645 674
g 2,413 4,446 2,129 2,317
BARE 246 655 329 326
= 2,143 5,251 2,479 2,772
hERE 597 1,479 676 803
e 2,265 5,138 2,492 2,646
25 L ET 2,247 5,335 2,550 2,785
B &AL BT 73 164 67 97
HEFILET1T 592 1,334 632 702
HEFILET2T 596 1,386 664 722
HEZFILAT3T 577 1,383 675 708
g 1,838 4267 2,038 2,229
B & it B Fr ET 630 1,554 761 793
BHEREBET1T 612 1,270 608 662
BHERERET2T 740 1,740 860 880
BHERERETST 777 1,749 813 936
HEFMHET4T 467 1,070 518 552
HEHFMHETST 779 1,677 799 878
HEHFHET6T 828 1,978 953 1,025
HEFRET7T 861 2,059 993 1,066
HERERETST 50 148 68 80
5| 5114 11,691 5,612 6,079
HEF R FET 1,769 3,942 1,921 2,021
S|EFET1T 565 1,529 71 758
S|EFET2T 744 1,830 880 950
S|EFET3 T 740 1,526 734 792
g 2,049 4,885 2,385 2,500
ERE1T 546 1,340 643 697
EIRET2T 305 768 381 387
EREIST 451 1,298 634 664
EIRETAT 669 1,571 743 828
EIZEIST 464 965 483 482
g 2,435 5,942 2,884 3,058
MEH 2,674 6,129 2,895 3,234
J\THET1T 27 29 7 22
J\THET2T 25 65 33 32
J\THEI3T 58 137 63 74
B 110 231 103 128
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